C. Y. Yeung (AL Chemistry)

F6 AL Chemistry (Tutorial 19)

~ Suggested Solution ~
1.
Let the mass of X extracted by B be m g,

and the mass of X remained in A be (6 – m) g
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(
mass of X remained in A = 6 – 5.217 = 0.783 g
2.
(a)
Let the mass of X extracted by 300cm3 ether be m g,




and the mass of X remained in 100cm3 water be (5 – m) g
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m = 4.84



(
4.84 g of X will be extracted out by 300 cm3 of ether.

(b)
Let the mass of X extracted by the first 100cm3 ether be m1 g,




and the mass of X remained in 100cm3 water be (5.0 – m1) g




i.e.
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(
4.545 g of X will be extracted out by the first 100 cm3 of ether.





(5.0 – 4.545) = 0.455 g of X remained in water after first extraction..



Let the mass of X extracted by the second 100cm3 ether be m2 g,




and the mass of X remained in 100cm3 water be (0.455 – m2) g




i.e.
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(
0.413 g of X will be extracted out by the second 100 cm3 of ether.





(0.455 – 0.413) = 0.0413 g of X remained in water after second extraction.



Let the mass of X extracted by the third 100cm3 ether be m3 g,




and the mass of X remained in 100cm3 water be (0.0413– m3) g




i.e.
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(
0.0376 g of X will be extracted out by the third 100 cm3 of ether.




(
(4.55 + 0.413 + 0.0376) = 4.996 g will be extracted by 3 successive portions of 


100cm3 of ether.
3.
no. of mole pf HCl used = 
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no. of mole of NH3 in 20cm3 CHCl3 = 1.145 ( 10-3 mol

total no. of mole of NH3 in 50cm3 CHCl3 = (1.145 ( 10-3) 
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no. of mole of NH3 remained in H2O = 
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4.
(a)
Let the mass of iodine extracted by 40cm3 CCl4 be m g,




and the mass of iodine remained in 100cm3 H2O be (2.00 – m) g
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(
(2.00 – 1.93) = 0.069 g iodine would remain in water.

(b)
Let the mass of iodine extracted by the first 20cm3 CCl4 be m1 g,




and the mass of iodine remained in 100cm3 H2O be (2.00 – m1) g
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(
(2.00 – 1.867) = 0.133 g iodine would remain in water after the first extraction.



Let the mass of iodine extracted by the second 20cm3 CCl4 be m2 g,




and the mass of iodine remained in 100cm3 H2O be (0.133 – m2) g
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(
(0.133 – 0.124) = 8.87(10-3 g of iodine would remain in water after the second 


extraction.
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